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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2018 

LIFE SCIENCE 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 
questions from questions no. 2 to 6. All questions 
carry equal marks. 

1. (a) Fill in the blanks in the following 
sentences : 	 4x1=4 

(i) The scientist who suggested Natural 
Selection as the mechanism of Evolution 
was 

(ii) Lamarck's theory on Evolution could not 
be accepted as 	 characters are 
not inherited. 

(iii) The method by which the age of rocks and 
fossils can be estimated is 	 

(iv) The binomial system of nomenclature was 
given by 	 
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(b) Expand any two of the following 

abbreviations : 	 2x1=2 

ICBN, IAPT, IUBS 

(c) Match the terms in Column A with the ones 

in Column B : 

Column A 

4x1=4 

Column B 

(i) Coprolites a. Zooflagellata 

(ii) Flowers and fruits b. Cyanobacteria 

(iii) Anabaena c. Fossil faeces 

(iv) Trypanosoma d. Angiosperms 

2. (a) Explain any five of the following terms : 5x1=5 

(i) Flora 

(ii) Systematics 

(iii) Vestigial organs 

(iv) Phylogenetic classification 

(v) Genus 

(vi) Sympatric speciation 
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(b) Write notes on any two of the following : 2x2 1  =5 

(i) Co-evolution of Prey and Predator 

(ii) Merits of Bentham and Hooker's System 
of Classification 

(iii) Palynological Evidences as Tools of 
Taxonomy 

(iv) Hybrid Sterility 

3. (a) What does the geological time scale 
represent ? Name the different Eras, 
Periods and Epochs in chronological order. 

(b) What are Variations ? Describe either 
mutations or genetic recombination as agents 
producing genetic variability in populations. 5 

4. (a) What is the aim of setting up National 
Parks and Botanical Gardens ? Write notes 
on any two National Parks of India. 

(b) What are the different units or categories of 
classification ? Arrange them in a 
hierarchical order. Define any three of them. 5 

5. What is Speciation ? How do the different types 
of isolating mechanisms facilitate speciation ? 	10 

OR 

In taxonomy, what is a "KEY" ? List the 
different types of keys. How are they prepared 
and what are they used for ? 10 
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6. (a) On the basis of fossil evidence, compare the 

characters of Homo erectus and Homo 

sapiens. 5 

(b) Name the five kingdoms of organisms given 
by Whittaker. Give the characteristics of any 
two kingdoms. In which kingdom and 
phylum will ypu include (i) Fern, 

(ii) Euglena, (iii) Paramoecium, and 

(iv) Snail ? 5 
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() PHR-112.1i clict4i 4   *1.  TIW 
r--A7 : 	 4x1=4 

(i) aF te4w 	3rr-t-Pdw apir 	fdcniti 
1:1Tt7 clam   I 

(ii)Frr* 	chm.1.410 ItRr Tel err 
4.44   -muff 	4qrrTA 
Tel 614 

(iii) 4F ff ft 1414 	4drFil *t aTrg 
41101 t, 

	  ct) 	t I 

(iv) ittrc4M 	& 	2ft I 
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Pi-iroRsm 4 A 1-*Ter- 0. 4rkft-411-  
few : 	 2x1=2 

ICBN, IAPT, TUBS 

(TT) crorvi 4 	If chioH 1:4 4 rev TR 

if fq-0-fq trr--A7 : 
	 4x1=4 

oTe/H w 	ch/c/s1 

(i) cr) N)cl 	a. 	:31, 

(ii) b. 	ct iken 

c. 

(amilio TM) 

d. 

2. () PH 	csi (go 4 	- 1 qfw Trql 

5x1=5 
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-14-4660 4 	 fau4Pieir 
furw : 	• 2x2 — =5 

2 (i) fqr*-7-1-4.0-Aft 	retchlki 

(ii) 42PIWZrf tcbt 	clifictAul srurrdl*Tir 
(iii)	 SiMui .7W afil.:Prack  'i 

WiTift7 Vg 4 
(iv) kicnk eitemi 

3. (W) IkUrr7W Trrizi 	 TEIT 314rgff chtii 	? 
"regr i-mcbc-441, abc.44 ..21T 54 	TIT chlostoi 
4 fAIR I 

(r:4) f 4ratrdr1 a;Err ? 	 aTerd7 
r air Trzrk 3v-1-4Ntrw fe-mrdr*  

-1:r 4 auTi 411-A7 

4. () (1 ,4141 IT* att 	cm) 	pa-ftra .  ct)t 
a;T z-Ozt Tirr ”TR-ff * ft-4i t t1t4k Tar* 

fauluil -W§R I 

	*r MIR 	71T arErRIT A9--Ter # ? 
TOT r*-IFII 	lEsdK *chli 	TIT 4 

WW:P-Tff *1-1* 	
 

3.14 4 -1*-41 Alq *r after 
1-437 I 

5. n 1a- 	 141.21-14 
f -zrrfetrzri 14)ki 3rwr( 	wlfa 	4T-6-4-17rcf1 

3Ter4T 

A-ft *i -4-0 4 `5-4fi" 	t fafirff 	*'t 
*P--441*'t T41 ARTF k 	 
ztrenTr ? 

5 

5 

5 

10 

10 
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6. () z(lci 	 aid ttil 	3T OF 1:1K 6 	id-  $fre6 r 

	

6 gi 	FrrikR? -m-T64 	*11-4R I 	5 

(w) izTtT fqR 	trtql 	R-rgr 

iffruR I 	t Aim)* 704 -4-d-r-4 	14)ti 
aTrcr (i) i4, (ii) 77#i77, 

(iii) gosewerst, WzIT (iv) 40 -A. eta ? 5 
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